Rapid Recalls Autumn 2 – 2022


5 x 10 =
11 x 4 =
5 x 5 =
3 x 7 =
6 x 2 =
10 x 90 =
80 x 70 =
2 x 10 =
3 x 3 =
6 x 8 =
17 x 100 =
         X 1000 = 40
62 =
7 x 7 =
3 x 6 =
5 x 10 =
2 x 1 =
11 x 5 =
9 x 8 =
100 x 14 =





5 x 5 =
9 x 4 =
11 x 9 =
3 x 5 =
12 x 2 =
11 x 10 =
12 x 3 =
8 x 7 =
10 x 2 =
1 x 70 =
0.432 =
1/4 of 16 =
50% of 10 =
13 x 3 =
4 x 8 =
               x 10 = 120
6 x 3 =
5 x 10 =
100 – 12 =
100 – 45 =




200 – 45 =
100 – 99 =
82 =
4 x 4 =
11 x 11 =
12 x 12 =
15867 =
8 x 6 =
4 x 2 =
9 x 8 =
7 x 9 =
70 x 90 =
60 x 50 =
1 x 3 =
1.243 =
1 x 8 =
8 x 6 =
4 x 6 =
6 x 8 =
3 x 2 =



